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B.Tech II Year I Semester Examinations, November/December - 2016
MATHEMATICS-III
(Common to EEE, ECE, EIE, ETM)
Max. Marks: 75
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This questlon paper containg two parts A andB.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries 10 marks and may have a, b, ¢ as sub questions.

A PART- A o §
25 Marks)
ve (x’D*+xD-4)y=0 2]
Find the particular solution of 4 420 8 (4 \ i [3]
1 b 4 x il R Bl I U 3
P L dx’ ) Lzl.\‘,lJ \/1_
Expres§-xi=1 in terms 6f By(x). “2] .
Express J; in terms of Jp and'J;. - T 377
Show that f(z) = z l Z ] is not analytic anywhere. [2]
Find the harmonic conjugate of u = 2xy + 3y. (3]
Expand when z >1 [2]
) I R R R
Find the co-efficient ofi in the expansion of ( : ) [3]
z (-2
Evaluate the residue of atz =0. [2]
el o)
Find thé i}r{ége ofc<y <d iill.lder the traﬁsfd%ﬁation w=eb ' [f%]y
PART-B
(50 Marks)
Solve i serigs 3.° | SETL L1 S EEW 16y,
OR
Solve (1+ x) [ d (1+x (dy\+y=4coslog(l+,\-). [10]
N J ar)
Prove that Cos(xCosG) - Jo = 2J2C0526 ; 2 J4 Cos 40— = 7
Prove that sin (xcos@) =2/,cos30 +2J,cos50 — — ~. [5+5]
..f:;ufw:;;.g,._?‘_ - OR
0 if ms#n
Show that ; j‘ P (2)p, (3 = J 2 hdi L L[167;
5l'f.' "7:(-:: n 0% Ceeas X Yaex

l2n+1
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i "6iay  Find the dnaiytlc functidi Mose real par:f’i's tr - ]—} sin@i i TH
b) Evaluate J x'y dx + (x* - y”)dy form (0,0) to (1,3) along y:xz. [5+5]
OR
o, 325+ Tz 1) ..................
I (O NCE ( ) diz usmg cauchy!§ integral formifa.where C is-fp]=2.
ot z-a)’
Find F(1), F(3) F" (1-i). [10]
8.  Expand ————— where (@) ¢ :[z]> 3 (b) ¢ [10]
AAAAAA ' pgErD(E=3) o i, e R wEa, S,
X el M '.' feuxt OR M- I Manet M TTand PN Theas
z+3 .
9. Expand f (z)= ——————in power of z
z (z' -z- 2)
(a) ¢c:0<|zf<1 (b)cl<z (€) c:lz|>2 [10]

: IOa) Prove tha:t '{i.rzlder the transformatlon w= lz/z; ‘t,ﬁﬁe image of the Tines y= x-1 Aan'd“j/::()
are the circle «’ + v’ —u ~ v = 0 and the line v=0, respectively.
b) Find the bilinear transformation which maps the points (-1,00,1) to (-1,-2,1). [5+5]
OR
-1}:a) Find the-image of the mang]e with vertlces i,1+i and, 1 in Z plane unde:l -the R

i transfofiﬁétlenw 3z+42% it P [5t+5)

* transforms the circle 2| =1 into a circle

[5+5]

. 5 -
b) Show that the transformation w =
4 z-2

of radius unity in w-plane and find the centre of the circle.
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